Unvm% fig. pactice | malhl2\

(1) Define anceoslx) 4o be theangle  w [0, 7] sk cosd=x.

The follow‘mq exencien ane weant o allow youto applg the same
sort of neasonivig s we wied fo study anctan(x) § arcsin(x).

@) Why do we wre [0, instead of [-/2 2]

(Like with ancsing) 2

\ cosx fakes only positive velus on [~ni, miil & it toles
2 eath one twite , so the choice of arccos(x) wouldwt he

N . A
\"ju l "\"/m unigw.  On [o0.77), ecch velue 6f cosx  (fiom =1t |)
-\

occuns exactly once.

b) Shetch Cpaph of anceos(x). What s 1t domai
g nan%z? .

Domain:
\x.\ Range * [0, 7]
- {

-\ i

¢) Evaluate sm(a/)ccos(-llz))_

= [B/2]

2
i i j . (a/;c(,os(-llzD = 23 e 17.0°>.

d) Une i wplict diHerent iationto £ind j‘i'( (anceos(v)).

Y= ancewm(x) 5
COS% = X _p.Q_ o l l
- sin( )‘-l'—" = | o (MCCOSM) ) m Jimw¢
9 Ix l ;l
d‘d \ =l —-.
Z‘;‘ =7 S;l\b R

//comwvd” encsinx s wd mee often in integely. Tryto guess why



o) Find & ancein Nx) .
: hein nule)
= == 2 J" - (heaw nu

\

u=e*

@ FlnA f H_er du.: ex[j»‘

du

=+ut

- anctanlw)+ C
= {andtan(e’) + ¢f
4 :
O a) Fivd — Ay
f Z5X wu=x/s

\ \
= 25'5 1+ w25 &%

. ! 5Au

25 l+ut

= = aactan(u)+C

= E;mwé)@

J.u = LgAx

L) Find fi—( arctan (X).

=

\
= l-b(v.ll)”. A

! (chcum nule)
Z (V4 x)

=|—Z _
H+x*

A /2 Cinx U=coNx
b) Fin fo m &X du=-sivxdy
o
= G
j’l =ur AU\

= ,R_an()rav\( u \-]lo
= \TT/Y

b Fnd [ s b

u=x/3

\ \
=T lmm b
- = 3du

3 Vi—uc

= aACSiV‘I(u)-(.C

[/Hint: Ty fo sealethe numeratn & dpnowinglor 4o gt a wmore femiliar fom,



